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σα = Cαβ eβ

eα = Sαβ σβ
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Кубическая система Тетрагональная система



структура

Расст. 
между 
ближ. 

соседями
(A°)

плотность
(кг/м3)

Упругие
модули

(1010Н/м2)

вычис.
скорость 

звука
(м/с)

Измер.
скорость

звука
(м/с)

натрий B.C.C 3.71 970 0.52 2320 2250
медь F.C.C 2.55 8966 13.4 3880 3830
аллюминий F.C.C 2.86 2700 7.35 5200 5110
свинец F.C.C 3.49 11340 4.34 1960 1320
кремний Diamond 2.35 2330 10.1 6600 9150
германий Diamond 2.44 5360 7.9 3830 5400
NaCl Rocksalt 2.82 2170 2.5 3400 4730
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Уравнения Кристоффеля 


